



# INFECTION PREVENTION SOLUTIONS TO GIVE YOU PEACE OF MIND

From contamination to common bugs or a health crisis, with lasting germ protection for hands and surfaces. Atalian Microbe Shield uses the latest innovative technology to help keep your people safe and healthy during this challenging time.

Our advanced long-lasting antimicrobial solution is proven to stay active for up to 30 days on surfaces to protect you against 99.9% of germs and prevent the spread of disruptive pathogens.

#### 3 Steps process:





Cleaning to remove matter





Disinfection to protect surfaces





Hygiene testing to ensure germ-free

#### **Experience noticeable results:**

- **Cost savings**
- **Reduces absenteeism**
- Reduces risk of serious illnesses
- **Overage** Prevents mutation (superbugs)
- Lesser down-time of facilities

Click here to watch the video







# **BACKED BY RESEARCH & INNOVATIVE TECHNOLOGY TO KEEP YOU HEALTHY**

Supported by 100+ independent laboratory tests and has been proven to kill a wide range of pathogens.

#### Viruses

#### **Bacteria**

- SARS-
- MRSA
- CoV-2
- E-coli
- SARS
- Listeria
- MERS
- Tuberculosis
- H1N1
- Salmonella
- H3N2
- Legionella
- Ebola
- Staphylococcus aureus

#### Fungi

- Aspergillus Niger
- Black mould
- Thrush





Our formulation kills by a physical process. A layer of positively charged microscopic pins coat the surface and attract and kill pathogens by rupturing their cells. This protective membrane remains intact and effective on a surface for up to 30 days.

#### **Atalian Microbe Shield**





Water-Based

No Alcohol

Lasts up to 24hrs on skin





**Toxicity similar** to Vitamin C

Lasts up to 30 days on surfaces

Lasts up to 20 washes on fabrics

- Cleaning and disinfection removes/kills microorganisms at the point of use.
- Surfaces quickly become re-contaminated after 2 hours.
- Atalian Microbe Shield creates a residual barrier to greatly reduce re-contamination.



# PROTECT YOUR STAFF & CUSTOMERS AGAINST BACTERIA FOR UP TO 24 HOUR

For hand application use in conjunction with hand hygiene routines. Apply 2 pumps to your hands every morning.

- Clean hands of visible dirt using soap and water.
- Ensure hands are fully dry prior to application.
- Apply 2 pumps to hands.
- Rub hands together, front and back, ensuring all surfaces of skin are covered with product.
- Keep rubbing for 30 seconds or until dry.
- Continue hand washing at regular intervals throughout the day to prevent the build-up of dirt.

ATALIAN GLOBAL SERVICES

Proper hand hygiene can reduce absenteeism at work by up to 40%.

Employees who use sanitiser regularly are about 67% less likely to get sick.

30 seconds of using hand sanitiser kills as much bacteria as two full minutes of handwashing.

Offices with a sanitisation program report 24% fewer claims for hand hygiene preventable diseases.

ATALIAN Global Services Myanmar provide the supply of hand sanitisers to protect your family, communities and business against 99.9% of germs for up to 24 hour with one application in the morning.

The 99% water-based formulation will leave your hands feeling soft and smooth after each application.

- **⊘** Provides up to 24 hour infection prevention even after washing hands
- **⊘** Protects against 99.9% of germs
- **✓** Dermatologically tested





## **ATALIAN Wholesale Pricing**



ZOONO	Liters	Pric	ce Per Liter (USD)	Total (USD)	
Min Order	5	\$	30.00	\$	150.00
Discount 1	25	\$	29.00	\$	725.00
Discount 2	50	\$	28.00	\$	1,400.00
Discount 3	75	\$	27.00	\$	2,025.00
Discount 4	100	\$	26.00	\$	2,600.00
Discount 5	150	\$	25.00	\$	3,750.00

<sup>\*</sup>Purchase Over 100 Litres will include free training sessions on chemical usage with misting/fogging machine.

## **ATALIAN Servicing Pricing**



INFORMATION	REQUIREMENTS			SELLING PRICE (USD)	
Estimated Surface Area	Liters/Month	Hours/Month	Manpower Requirement (Hours)	Т	otal Amount (USD)
Min 1000 sqft	1	2	2	\$	187.00
2000 sqft	2	4	4	\$	374.00
3000 sqft	3	6	6	\$	561.00
4000 sqft	4	8	8	\$	748.00
5000 sqft	5	10	10	\$	935.00
8000 sqft	8	16	16	\$	1,496.00
12000 sqft	12	24	24	\$	2,244.00
17000 sqft	16	32	32	\$	2,992.00



\*Pricing does not include 5% Commercial Tax

<sup>\*</sup>Buyer will need provide machine and chemical for training.



## WE TAILOR MAKE YOUR FM SOLUTIONS

Our advanced hygiene service is a vital part of some of the strictest hygiene protocols around the world and has been tried and trusted by many industries.















